BRXO01 Universial Body Post (#BRT10041)

Installation Manual

Parts Included:

(1) 115mm Post

(2) 60mm Post

(3) Rear Bridge

(4) Front Bridge

(5) Cross Bridge

(6) M3x12 Set Screw
(7) Foam Tape

WWW.BOOMRACINGRC.COM

BRXO01 Universial Body Post (#BRT10041)

ﬁstZ SS

M3x12 S?

You may choose to install the Rear Bridge directly on the Optional Rear
Quick Release Body Mount (#BRLC7071).

WWW.BOOMRACINGRC.COM

Apply the single-sided tape to the
Post Bridge as a gap filler if the body
wobbles after installation.

Extra Mounting Position

w M3x12 SS

M3x

1
=%

255_®

M3x12SS x 4

M3x8 RS

M3x12 SS

M3x8 RS

The Rear Body Post Mounts can be installed on different positions on both sides of
the optional Rear Quick Release Body Mount .

M3x12SS x 4

M3x12SS g

M3x12 SS

You may choose to install the Rear Body Post Mounts between the chassis
rails and place the Rear Bridge on top to get the lowest mount point.
There are three positions available as indicated by the red dots.

Dimensions For Reference

97mm

79mm

BRXO01 Universal Body Post
#BRT10041

61mm
Rear Bridge

Cross Bridge

67.5mm

— eNJBY BEING A BADASS

Front Bridge
Copyright © Boom Racing Co. Ltd




